HHF

guakl

##& / Specification
M%dietfﬁg‘; c Maxﬁﬁf&aﬁeﬂ%ﬁque Maf §r§pyi§1?go]rce
N*m KN

SCT-04* R 12
SCT-05" 63 35
SCT-06 88 31
SCT-07 107 31
SCT-08 128 33
SCT-09 147 37
SCT-10 176 46
B

Model/Spec A = e = i
SCT-04* 112 58 80 95 24
SCT-05" 132 60 100 115 32
SCT-06 167 66 130 147 45
SCT-07 193 76 155 172 58
SCT-08 203 76 160 176 58
SCT-09 233 84 190 210 70
SCT-10 273 86 230 250 89

1. EHOEE
2ER—MEXERME—4H
3 EEKIFHEER0.03mm
1.Plain back

2.Standard accessories: 1 set outside
solid jaws and 1 set inside solid jaws

3.Clamping repeatability is 0.03mm

HATL
back mounting
l——'-s—-
—\_h\
E—

'n
_—
—

@A

1]

ac

@E
|

e

mﬁn—/

front mounting

FE
Weight

Kg
3.1
4.4
11.4
12.2
16.2
212
28

4.5
4.5

L
5:h

i AiESERE L F4E; Note: The front mounting bolts are 4pcs

Bawm  SRENE
R

0.D Clamping Range
PM b
2500 3-90
2500 3-110
2000 3-160
2000 4-180
2000 4-180
2000 5-220
1800 6-260
G H
3(4)-M8x1.25P 42
3(4)-M8x1.25P 51
3-M10x1.5P 70
3-M10x1.5P 85
3-M10x1.5P 85
3-M12x1.75P 105
3-M12x1.75P 105

+ REHEBERMER, LR BTHEE Subject to technology changes without prior information

+ JEMEER AT Non-standard requirements can be made

15
20
20
25
25
28
28

B fZ/UNIT:mm

e FFEE E M 1R
I.D. Clamping Range

mm
32-84
35-100
48-150
56-170
56-170
62-210
70-250

31
40
53
54
54
63
63

10
11
11
12
12



